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SOCIOLOGY
[GENERAL]
Paper : 111
Full Marks : 100 Time : 3 Hours
The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any six questions: 1x6=6
(-l B el e Wi ¢
a)  What is joint family?
SIREIESERC SR G
b)  Whatis varna?
A I e 2
c)  What is nuclear family?
G A 0S5 (2
d) What is caste councils?
Gifo #ifsam e
e) What is crime?
LAY FICP 0T 2
f)  What are the two main problems faced by the
tribes?

Goerifoma 2l wis el 6 e
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g)  Write two features of self-sufficient village.
TR g vfb @ Trgd 791
h)  What is polygamous family?
FRANS ARRIF FICE T 2
2.  Answer any eleven questions: 2x11=22

@ QNE® 2 Tea e ¢

a)

b)

g)

h)
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What do you mean by global village?

ol &l <e1ee 6 @ e

What do you mean by self-sufficient village
community?

FALT RPRIE @10e 6 (@i

Mention any two types of tribe found in India.
SRR @ (FIE! 76 Gofenifod I 74 |

What are the chief characteristics of tribe?

Teaifed a4 @IRrel & e
Define Schedule Caste.

SUIRCIRIICE R R

What is social problem?
A& TP FICF T 2

Mention two functions of family.
AR @ @I 7o SR S 41|
What is MNC?

MNC FICF qCsT 2

What is assimilation?

SISFRe] FIE A0 2



j)  What is domestic violence?
aggy BT It AT 2

k)  What are the tiers of Panchayat Raj System?
AeEre g e waef e

1)  What is dominant caste?
A S P A0 2

m) What is Globalization?
[BRIECES

3. Answer any seven questions: 6x7=42

@-CFIe ArefB Arsa Ted mie

a)  What is cultural lag?
AT sperel F 2

b)  Write short note on the features of self-
sufficient village community.
FRT=Lef ST @Y T 90 DIl @14 |

c¢) What are the causes of child labour?
Mreacr simesf i e

d) What are the causes of domestic violence?
S5 Rt Seef [ e

e) What is secularism?
¥ sl I e 2

f)  What are the merits of nuclear family?
G Afaicas ARt & 6o

g)  What are the features of modernization?
iR TR e & e
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h) Mention the characteristics of tribal
population in India.
ISR oeiform @Eyafe & e

1)  What are the causes of breakdown of Indian
joint family?
eI (19 AR Sigee Flaeaf o &5

4.  Answer any three questions: 10x3=30

@I Feafb aoss Tes nis ¢

a) Discuss in brief about the problems of
urbanization in India.
SIS VIR TP T @36 A<fre
fa=el e |

b) Discuss the structure of 'Panchayati Raj
System' in India.
SRS AT A& G 5107 H=ACF SOl
4|

c) Mention the major problems of tribe in India.
SRS Tweifed f[Afen Tipiefs T
NG PRI

d)  Write a note on caste and politics.
i @ reite KA 95 Bl (=74 |

e)  Whatis social problem? Examine the different
approaches of social problem.
ARG TP FIE 012 ANEs FEpE (e
WS TIF @14 |
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